L=NFITc © High Strength Hexsert®3930 151 48 £}

IEl&iMnEB

REBRBIESERIMHITEER
R FATM s E www.rivettech.cn &

KTHS5ZR5EE.
b it # B
1| * DIN EN 10263-2 Qst 34-3, BS EN/DIN 10263-2
Kk NEE M C8C, Werkstoff 1.0213, SAE 1008
Ehrerstt ek, 4T b

A/F e (BE) oA 2B D F oJ M P
B EL T
min. | max. | min. | max. | £+0.08| min. | max. | +0.13| £0.08| min. | max. | nom. | max.
M6 x 1.0 90| 91| 05 3.0 8.89 |12.80 [13.20 | 1.50 8.89 | 12.0 | 135 | 18.8 | 11.6 |39301-26030
M8 x 1.25 11.0 | 11.1 | 0.5 3.0 [10.89 [15.68 |16.28 | 1.50 |10.89 | 14.0 16.2 | 204 | 13.8 [39301-28030
M10x 1.5 13.0 131 | 1.0 35 [12.89 |18.50 [19.10 | 2.00 |12.89 | 16.2 | 19.3 | 26.0 | 17.8 |39301-20035
M12x1.75 |16.0 | 16.1 | 1.0 4.0 |15.88 [22.60 |23.30 | 2.25 |15.90 | 19.0 | 24.2 | 30.8 | 22.0 |39301-22040

:Eéﬁﬁiﬁﬁ:
ﬁ@ij‘
—— X bz =
= A5
B s
EERAHIE L heEE AR
max. € max. e max. e min. e max.
Nm kN Nm Nm kN
M6x 1.0 17.0 20.6 24.7 14.4 71
M8x 1.25 60.0 28.1 34.6 15.6 10.7
M10x 1.5 100.0 34.2 62.0 60.8 12.5
Mi12 x 1.75 135.0 40.9 135.0 62.0 18.3

B R AR RARIE.

S EBRHRE: 400-050-6166 021-67855166 {EE: 021-67855167 X Avdel’ AVDEL= 3t E Rt/ 7 & MR



